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F - 3374

B. A.  (Part - III) Examination, 2022
PSYCOLOGY
Paper First

(Psychological Statistics)

Time : Three Hours] [Maximum Marks:50

1/ Unit - 1

1. 


What is statistics ? Explain the nature and types of
score in detail.

/OR






P.T.O.

[2]
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

Prepare frequency distribution from the following data:






2 / Unit - 2

2. 


 

 

 

 

 

 

 

 

 

 
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 

N=50

Explain central tendency. Calculate median from the
following data :

C I Frequency

60-64 2

55-54 3

50-54 5

45-49 6

40-44 7

35-39 10

30-34 5

25-29 6

20-24 4
15-19 2

N=50

/OR

P.T.O.

[4]
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

 

 

 

 

 

 

 

 

 

 

Compute quarlite deviation (QD) from the following
data :

CI Frequency

40-44 7

35-39 10

30-34 18
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25-29 28

20-24 16

15-19 12

10-14 10

5-9 7

0-4 2

3 / Unit - 3

3. 


I II

8 4

7 2

6 6

7 9

3 2

9 8
12 9

P.T.O.
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7 6

3 2

5 4

Calculate the Rank order coefficient of corelation from
the follwoing data :

Test  I Test  II

8 4

7 2

6 6

7 9

3 2

9 8

12 9

7 6

3 2

5 4

 / OR
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

(a) 

(b) 

Write short notes on the following data :

(a) Skewness

(b) Kurtosis

4/ Unit - 4




X Y

30 40

70 60

75 65

60 40

55 43

50 60

62 61

P.T.O.
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68 63

71 72

69 76

What is T-Test ? Calculate T-Test from the following
data :-

X Y

30 40

70 60

75 65

60 40

55 43

50 60

62 61

68 63

71 72

69 76

 / OR
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


What do you mean by infrential statistics. Explain type-
I and type-II error.

5/ Unit - 5

5. 

a) 

b) 

Write short notes on the following :-
(a) Median test
(b) Sign Test

 / OR




  


N=100

P.T.O.
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Calculate 2X  (chi- square) from the following
data and check the level of significance-

  


N=100


